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The daily expenditure of 100 families is given below :

Daily Expenditure | 0-20

20-40] 40-60

60-80]80-100

No. of Families 13

? 27

? 16

If the mode of the distribution is 44, calculate Karl Pearson's

coefficient of skewness.
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2. Calculate Karl Pearson's coefficient of correlation from
the following data:
Y/X |200-300]300-400 400—500| 500-600] 600-70(¢
10-15 - - - 3 7
15-20 - 4 9 4 3
20-25 6 12 5 -
25-30 3 10 19 8 -
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y/X  |200-300{300-400|400-500] 500-600| 600-70¢
10-15 - - - 3 7
15-20 - 4 9 4 3
20-251 7 6 12 5 -
25-30| 3 10 19 8 -
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What are the uses of regression analysis? What do you

understand by Standard Error of Estimate.
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Construct a Fischer's Ideal Index from the following data

3.
and show that it satisfies time reversal and factor reversal
tests:
2012 13

Items P, Q, P, Q,

A 10 40 12 45

B 11 50 11 52

C 14 30 17 30

D 8 28 10 29

E 12 15 13 20

[P.T.0.
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A sample of 400 items is taken from a population whose
standard deviation is 1.5. The mean of the sample is 2.5.
Test weather the sample has come from a population
with mean 26.8. Also calculate the 98% confidence
limits of the population mean.
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